6593 Riverdale St.

M 0 U R G R 0 U P San Diego, CA 92120

619-727-4800

ENGINEERING + DESIGN

Structural Calculations
for
CBISC-01 Series

Prepared for:
PROVENT / RRS

3847 Wabash Drive
Mira Loma, CA 91725

Date: July 29, 2019
Project Number: PV1805



For wood, concrete and steel
attachment see Roof Anchorage
Detall, Form No. CB-60.

STRUCTURALLY CALCULATED VIBRATION ISOLATION
ROOF CURB FOR YORK UNITS

EST,
PROVENT P/N A B WEIGHT

CBISCLXS18" 8" || 18" 180 Lbs.

Welded |solation springs
housingare standard. For bolted
spring housing, neoprene pads and

P**A CABINET

apring cups see Weldment and
Bolting Detail, Form No. CB-61

| EEATURES

* Roaf curbs sides and ends are 14 ga.
* Fully welded construction.
* Gasketing package provided.
* Heat treated wood nailer provided.
+ insulated deck pans provided.
* Pitched curbs and taller curbs are
available.
NOTES
* Altach ductwork te roaf curb, Flanges

ol ducl rest on lop of the curb,
Support ductwork below the curb.

* Thruthe curb utillities are avallable.
Contact you York distributor or
Provent directly.

{(4)#10 TEK SCREWS

14 GA UPPER RAIL,

B* TOTAL HEIGHT
(35" MAX WITH PITCH)

44.1/2" |.D.

UNIT BASE RAIL

ATTATCH TO UNIT WITH
(4) 110 x 6" TEK SCREWS
EACH HOLD DOWN

14 GA UNIT HOLD DOWN
(1) PER EACH SIDE

JOA ISOLATOR RESTRAINTS
(1) PER EACH SHORT SIDE
(1) PER EACH LONG SIDE

FULL PERIMETER
WOOLD NAILER

STIFFENER 16 GA X 7"x 1 1/2"
AT EACH ISOLATOR

16 GA, CURB
3847 WABASH DRIVE SUBMITED 70:
MIRA LOMA, CA 91752 COMPANY:
PHONE (951) 685-1101 JOB NAME.
FAX (619) 872-9799 EQUIPMENT:

NOTES:

CBISCLXS21" s {2 195 Lbs.

CBISCLXS24" 14" | 24" 210 Lbs.

“*Note: Spring configuration must be added lo
part number al time of arder

Meels seismic requirements for the following
codes:

CBC 2016

IBC 2015

A

| A==
:ES 3 i
S (Ix%"(
S UXE,
L4y / £
A a2
@« i
0] NOLE578 m
XP oef30:2021 J T}
* / %
& N,
o IR
) CoF CA\_\?O A @
FORM NO: PART N =V
CBISC-01 -
DATE: REV: DRAWN BY:
10/3/2018 1 ALL



STEEL ATTACHMENT

WELDED CURB

CENTER ON CURB FLANGE. SEE TABLE FOR
QUANTITY OF EVENLY SPACED 1/2 " @ A307 BOLTS
ATTACHED TO STEEL ANGLE BELOW DECK AT
EACH CONNECTION POINT

/SHEATHING WHERE OCCURS

R

\( METAL DECK

ASSUMES:
CONC SLAB

Meets seismic

requlrements for the
following codes:

CBC 2016
IBC 2015

ROOF ANCHORAGE DETAIL

l'c= 4000PSI MINIMUM

6" MIN THICKNESS

NORMAL WEIGHT CONCRETE
OR SAND LIGHT WEIGHT

CONCRETE ATTACHMENT

WELDED CURB

CBKD Series CBWC Series CBISC Saries
LXS LXS LXS
LXL LXL LXL
SUN3672 SUN3672 SUN3672
PRD3715 PRD3715 PRD37 16
PRS PRS PRS
PRL PRL PRL
sLu1ao SLU180
SLM1830 SILM1830

CENTER ON CURB FLANGE. SEE TABLE FOR

QUANTITY OF EVENLY SPACED 2/4" @ THREADED
S~ STEEL ANGLE SUPPORT ROD IN HILTI HIT-HY 200 EPOXY WITH 4" EMBED
BY OTHERS
schedon inionl ik i NO. OF ANCHORAGE BOLTS REQUIRED
CLUXZB 2‘“&3 :I %Ec Xxsgozné ?;DE) C CURB LONG SIDE SHORT SIDE
LXL 7@ a4 & 0.C.XK 2@290C ; LXS 10@373" 0.C. 9@2.38"0.C.
- . . x " =1

SUN3672 2 @ 60" 0.C 2@ 24.25"0.C SUII_\JSIéTZ Bg@@ 47953 g.GC- ; g :.ggu g.g.
PRDA715 7@ 6838 O.C 2@385 0.0 50.C. 8570C.
PRS 2@58.38' OC 2@ 28.19" O.C. PRD3715 17 @ 4.27"0.C. 13 @ 3.21"0.C.

PRL 2@72 0C @41 0C PRS 9@7.3 0C. 7@4T1 OC.
SLU780 2@ 102.25' 0.C. 2@71 OC. PRL H@1.2"0C! 9@513°0C.
SLM1830 2@ 113.25' O.C 2@710C SLU180 16 @ 6.82" O.C. 13 @ 5.92" O.C.
2570, a2 SLM7830 18 @ B.66' O.C. 13 @ 592" 0.C.

*“* CENTERED.

*SIX INCHES FROM EACH CORNER EVENLY SPACED.

NO. OF ANCHORAGE SCREWS

WOOD ATTACHMENT REQUIRED
CURB LONG SIDE | SHORT SIDE
WELDED CURB CENTER ON CURS FLANGE. SEE TABLE FOR LXS: 7864270, | 4+ @767 OC.
QUANTITY OF EVENLY SPACED LXL i L AR T T
%" @ SIMPSON SDS OR EQUIVALENT SCREWS SUNIGT2 4@2135°0.C. 1 3@ 14.13°0.C.
(3% " MIN. EMBED. INTO WOOD FRAMING) PRD3715 8@1034°0C. | 6@85"0C.
PRS 1@2079°0C. | 3@ 1609700,
PRI @253 0C. | 3@225' 0.
SLU780 T@17.71"00C. | 7@ 125 OC. .
SIM1830 B@I675'0C. | 6@ 15 OC. /
FOUR INCHES FROM EACH
CORNER EVENLY SPACED
. FORM NO:
® P V t 3847 WABASH DRIVE el 0860
® MIRA LOMA, CA 91725 :
‘ o en JOB NAME:
i FAX (619) 672-9799 NOTES: 0731718 ALL




WELDMENT AND BOLTING DETAIL

QPTIONAL
WELD LL.C.
BOLTED STUD

TSy g

{3) 6/1€" BOLTS
GRADE 5 EA SIDE
OF THE STIFFENER

(2) EA SIDE FOR _
A - FOR JQB, JQBX, JOF, JGF:

QOPTIONAL BOTTOM
BUMPER FOR:
ISCALSLU18D
ISCALSLM1830

FOR JQA:

%¢"? HOLE USE J4'@ A307 BOLT
WITH FLAT WASHER AND NUT

:"@ HOLE USE %'@ A307 BOLT

HOLE FOR ISOLATOR STUD,
Wi FLAT WASHER REQUIRED
UNDER NUT

7/16" FOR JQA

9ME" FOR JQBIIQBX

116" FOR JQEJQF

NEOPRENE CUP
UNDER SPRING

Y THICK NEDFRENE PAD
REQUIRED

WITH FLAT WASHER AND NUT S —
BASE CURB SUPPORT
° 3847 WABASH DRIVE SUBMITTED TO: ORI
Prove nt MIRA LOMA, CA 91725 COMPANY: CB-61
JOB NAME:
PHONE (951) 685-1101 EQUIPMENT: DATE: REV: DRAWN BY:
L——‘ FAX (619) 8729799 Ream 02/08/18 1 ALL




6593 Riverdate St

MOUR GROUP Son Degn,CA 212

1619)727-4800
ENGINEERING + DESIGN Page _ of _
Client:[ProVent  PVIBDS |
Project:{CBISC-01 IsoCurb [CBISCLXS5**]  Upper curb rail
Unit:|ALL YORK P***A CABINETS
Curb information = F,,T
Heurb upper = 5.5]in [Height of upper curb rail} == Troem =
Lecurb = 46.5in [Length of curb} I (=Lont)
weurb = 31)in [Width of curb) i
WGTcurb = 210]lbs [Weight of curb) [
# Clips long side = 1 # Clipsshort side=[ 1 -l P s
_9 9 p éi r————————— =
WGTunit = 367]lbs [Weight of Unit) || oo Wit Woree! |
Wtmax = 120|lbs [Maximum corner weight} J_ i =
Wtmin = 71|ibs [Minimum corner weight] ] or 1
Hunit = 49)in [Height of unit abave curbj é 5
Hem = 24.5(in {Height to center of mass] 2|2 &
Lunit =| 51.25in [Length of unit} ‘ ‘ WET come
Wunit = 35.75]in (Width of unit] ‘ Y
- -
Seismic Loading - 2015 IBC/2014 CBC | Gois
Ss= 2.850 |Worst case for majority of CA - Design Category D]
Fa= 1.000 (Interpalated trom Table 11.4-1 ASCE 7-10)
Sms= 2.850 [Fa*5sl]
Sds= 1.900 [2/3*Sms)
p=f 1.2 [importance Factor Category i1l Building]
Fpmax = 3.800 Wp [1.6*Sds*Ipi*Wo
FpmaxASD = 976 lbs [0.7*Fpmax] FpmaxASD = 1535 lbs
tunit only| {unit and curb]
Wind Loading - 2015 IBC/2G16 CBC
“** Exposure Category C ***
Kz= 1.13 [For 60 ft roof height, Exposure C - Table 29.3-1 ACSE 7-10)
Kzt = 1.0] [No topographic effects assumed for rooftop mountad units)
Kd = 0.85 [Directionality factor Table 26.4-1 ASCE 7-10)
V= 115 [Max wind velocity, mph for Cat Il & IV bldgs Exp. Cat C]
GCrigns = 1.9 [Refer Sect 29.5.1 ASCE 7-10]
GCryemy = 1.5 |Refer Sect 29.5.1 ASCE 7-10]
qz 325 psf = 0.00256*Kz*Kzt*Kd*V* [Eq. 29.3-1 ASCE 7-10)
Fansn trans = 719 lbs =0.6*qz*GCr*Lunit*[Hunit+Heurb upper] [Eq. 29.5-2]
Faasnieng = 502 lbs =0.6*qz*GCr*Wunit*[Hunit+Hcurb upper]
Feeriaso = 372 tbs =0.6"qz*GCrLunit*Wunit [Eq, 29.5-3]
Curb Loading
Iransverse:
Compressiongg gy = 1075 lbs =[FpmaxASD*Hem+2*{1+0. 145, ) *Wimax*weurbl/wcurh
Tensiongggy: = 953 lbs = Compegguc-10.6-0. 14551 *WGTunit
Compressione = 524 Ibs =[F, sransass "HEM+2* 0.6*Wimax*weurb-F . . sn *wWeurb/2l/ weurb
Tensionyng = 478 lbs = Compyaup+Fvert-0.6*WGTunit
---> Negative values indicate Compression load rather than Tension,
Compressionspgu: = 818 tbs =[FpmaxASD*Hecm+2* [1+0.14*Sge)*Wimax* Leurbl/Leurb
Tensionszigme = 696 Lhs = COMpaprmmc-10.6-0. 14555 *WGTunit
Compressionym = 222 lbs =IF, vanstsn " HEM+2%0,6*Wtmax*Lourb-Foenasp® Leurb/2l/Leurb
Tensienwynp = 374 (bs = Compyanp+Fvert-0.6*WGTunit

—--> Negative values indicate Compression load rather than Tension,
Governing Reactions:

T : Compuac= 1075 1bs —> Along long edge of curb.
(on long edge) TenSuuy = 953 lbs -—> Along long edge of curb.

Longitudinal: Compuay= 818  lbs —> Along short edge of curb.
(on short edge) TenSus = 696 bs —:= Along short adge of curb,

---= Negative values indicate Compression load rather than Tension



6593 Riverdale St.

MOUR GROUP San Diego, CA 92120

1619)727-4800
ENGINEERING + DESIGN Page _ of _
Curb Design
Fy= 50 ksi Fu= 65 ksi t= 0073
E= 29500 ksi
A'= 5.500{in = 5.144 in = A'-[2r+1]
B'= 1.500}in a= 5.429 in = A'-t
&= 0.000}in {0 i ne lips) = 1.322 in = B'-[r=t/2+alr+t/2])
o= 0.000}(0 - no Lip; 1w/ lip) '= 1.464 in =B'-[t/2+al/2)
R= 0.1067 linside bend radius] = 0.000 in =alC*-[r+t/2)]
1= 0.0713 in e's 0.000 in =alC-t/2}
r'= D.143 in =R+1/2 us= 0.224 in =nr/2
X= 0.261 in [Distance between centroid and wab centerline)
= 2.426 in [Moment of Inertia about X-Axis] |
ly= 0.107 in [Moment of inertia about Y-Axis| b
A= 0.59 in? —merim— |
rx= 203 in i |
ry= D.432 in '——Q —\L{—
rmin = 0.432 in '
Axial Compression
Pu= 0.488 k {Max Axial Comp) 0.= 1.80
Pn/Qic = 2.561 k :
Fe=  39.18 ksi P Ea =15 K= (0ss8)r o B %
At - 1.13 T ; ) _ 0.877 <= |F - H
Fn=  29.31 ksi = HlexlE: Resr v (k)
Ly= 46.50 in Lateral unbraced length
kL e, = i1 lassume k=0.8]
= QK
Check Web Crippling
h= 55in -- Check limits: C=7.50
t= 0.0713 in hit= 77,14 <200 Cg= 0.08 (Ses table €3.4.1-2, fastened
N= 780 N/t= 98.18 €210 Cy=0.12 to support, two flange, end
e 175 Nh= 127320 C, = 0.048 taading]
Py= 1.947 k R/t = 1.50 12,0
PJjO,= 1112k P =c:21-;,sin(90)(1 & [_)(1 +Cy —)(1-cnjr)
Long side: Pusyae= 1075k 0K #clips=1
Short side: Puj o= 0818k QK #clips=1
Check Web Stiffener N/A
width of stiffener = 7.000 in ts = 0.0566
web of stiff. w = 6.M7in Rs= 0.084% in
***Check w/ts < 1,28VE/Fys .= 1.70
wits = 118.475
1.28vIE/Fys] = 31091 > w/ts over limit Use £3.7.2
By =07 (Pye + AcFy) 2 P
Pwe = 1,947 k As=  0.380 in?
Pn= 14.669 k
Pn/Q, = 8.629 k Not Req'd
Corner Connactions 1/4" 9 SAE Grade 8 balts w/ 1/4-20-UNC Threaded inserts
Ternmax = 244 tbs Max(F pussols ~OR- Fhygpup./é corner connections)
Vernmax = 476 lbs [Max Ten/2 corner connections per sidel
Bott: Tall = 2480|ibs Vall= 1096]lbs
Threaded Insert: Tall =| 2860|lbs Vall = 1714)lbs
# of Bolts reguired for Tension = 0.1
# of Bolts required for Shear = *#44f combined fails:
# of Bolts Used = USE ~-> 2.0
Check Combined Stress in Bolts & Inserts: 0.533 QK. StressComb = 0.267 0K
Check 1/8" welded connection <=-- USE WELD a= 2.35
Assume L/t » 25: 25*t = 1.783 in P 1 _ Veg
Lregd=  0322in M =GOTSE 2 Ve lreq'd = 75



MOUR GROUP

ENGINEERING + DESIGN

6593 Riverdale St.
San Diego, CA 92120
[6191727-4800

Page of

! #1 UISMS screw Q= 3.0
t= 0.0713}in [clip thickness) Ful= 65]ksi
tZ= 0.1017{in [unit base rail thickness) Fu2 = 45]ksi
d= 0.190 in [screw diameter] dw= 0.375 in [nem. washer diameter]
t2/t1 = 1.4
For 2/t1£1.0: o Pns= 23774 For t2/t122.5: o
Shear:  Fos=42F j13d 3.86 k Pns= 2377 +# : ‘_;_l
P =270dFy 238k Pas = 2.7t18F 238 k . | T
By = 2.76,dF,, 3.39 k Pos = 274,dE, 339 k L
Pns/Q= 792 #
Pss/t= 540 # <- Controls Proe = 0.85¢.dF,)
Tension: Pnot= 1.068 k [screw pull-out strength) t. = min(ty, t;)
Pnov = 2.607 k Iscraw pull-over strength) Papy = 15t;d o Fy
Pts/i= 356 # <- Controls
Pts/Q= 820 # [full tensile screw capacity)
Shear [k]  #clips Voo [kl Voo llb) #screws  spacing
Longside;: 0974 1 a.98 540 # & 2.00in
Shortside: 0976 1 0.98 540 # 4 2.00in
clip width fin} = clip height = 2.5)in
minspacing= 0.57in edge distance = 0.5in [min. 1.5d}
Check Block shear rupture: 0K thinnestpart= 0.0713  AISIBSR apptlies
Fy =ksa D= 2.22 boltfscrew connection
Agv = 0.463 in® Anv= 041610’ Ant= 0.082 in’
Rn/0 = 8674 k Ry =06FAg, + FAy < 0.6F,Ap, + FAn,
BSRO.K [AISI Sect. E5.3]
m Loads at each Isolator  Type:  Jaa
Transverse: Compyax= 1075  lbs [Transverse loading: |Compyey= 10754 1bs
{on long edge) Tensyay = 953  lbs {on long edge) Tensyuy= 9528 Ibs
Shearyy = 488  Ibs # isolators: 1 Sheary. = 4881 lbs
Longitudinal: | Compusc= 818 Ibs Longitudinal loading: [Compy = 8182 1bs
(onshortedge) | Tensyu= 696  Ibs (on short edge) Tensua = 695.6 ibs
Shearyy = 488 lbs # isolators: 1 Shearyy = 4881 Ibs
Max compression force on isolator:  1.075k € 1.660 k QK
Max upiift on isolator: 0953k € 1,440k QK x 4.0 in ¥
Max shear on isolator: 0488k <0800k QK
Earces on top bolt: 2000 O o
d,= 0375 in
upperrail. t=  0.1017 in 7.0in
Tension= 0953 'k
Shear= 0488 Kk
Shear on curb rail: B, =teR, Q= 200  [Appendix A, Section E3.1 AlSl]
Pn/i= &4811k e= 1.0 in
Shear 0.K.
Net section rypture: P, = AF, 0= 222 {Appendix A, Section E3.2 AlS!)
Pnfa= 7117k An= 0,165 in
N.S.R. O.K. F, =(0143d/s)F, <F, = 43.063 kst
Bolt Bearing Strength; P = CmpdtF, Q= 250 {Section £3.3.1 AISI]
Pn/o= 2975k dft= 349
Bearing 0.K. C= 300 mf= 100
Shear and tension in bolt: |Appendix A, Section E3.4 AISI)
Tarstlon Pre = ApFi Fat= 405  ksi Ay= 01104 jn?
Pnt/0= 1988k Bolt tension 0.K. Ot= 2.25  |Table E3.4-1, AISI]
Shear Fnw = ApFw Frvs 240  ksi fv= 240 (Table E3.4-1, AS1]
Pnv/= 1,104 k Bolt shear 0.K.
] nFn‘
Foie e Ll —g e s F = 442 ksi 0K.
Combined Not Applicable Fat= 3475 ks Frnv/G= 1000 ksi



4593 Riverdale St.

MOUR GROUP San Diego, CA 92120

(6191727-4800
ENGINEERING + DESIGN Page ___of ___
Clent:[ProVent  PV1805 |
Project:|CBISC-01 Iso Curb [CBISCLXS**) Base curb
Unit:|ALL YORK P*=*A CABINETS
A
Curb Information - Fe [ .
Heurp = 25|in [Height of curh) =2 ek = i
Leurb = 50.5|in [Length of curh) TRwne] 1
weurb = 35]in [Width of curb) T ol
WGTcurb = 210]lbs [Weight of curb) I |
#Clips long side =1 # Clips short side=[__1__| . f i S 15|
Unit Information | | ' ;
WGTunit = 367]lbs (Weight of Unit) §| } Wi fp T e Wheae] (Fs
Wimax = 120|lbs (Maximum corner weight] —J‘ i i
Wtmin = 71|tbs {Minimum corner weight] 7 T 1]
Hunit = 49|in [Height of unit above curb) |2 h
Hem = 24.5|in [Height to center of mass] Z|=£
Lunit= 51.25}in {Length of unit) WGTeuns
Wunit = 35.75}in (Width of unit] * ]
ﬂtv
Seismic Loading - 2015 IBC/2014 CBC Cru
Ss= 2.850 [Worst case for majority of CA - Design Categaory D)
Fa= 1.000 (Interpolated from Table 11.4-1 ASCE 7-10)
Sms = 2.850 [Fa*Ss)
Sds = 1.500 (2/3*Sms)
Ip= [Importance Factor Category Il Building)
Fpmax = 3.800 Wp {1.6<Sds*Ip)*Wp
FpmaxASD = 976 lbs (0.7*Fpmax) FpmaxASD = 1535 Lbs
(unit enly) {unit and curb)
Wind Loading - 2015 IBC/2016 CBC
*** Exposure Category C ***
Kz = 1.13 (For 60 ft rocf height, Exposure C - Table 29.3-1 ACSE 7-10)
Kzt = 1.0 (No topographic effects assumed for rooftop mounted units)
Kd = 0.85 (Directionality factor Table 26.6-1 ASCE 7-10)
V= 115 [Max wind velacity, mph for Cat Hi & IV bldgs Exp. Cat C]
GCripgeiy = 1.9 [Refer Sect 29.5.1 ASCE 7-10)
GCriyey = 15 [Refer Sect 29.5.1 ASCE 7-10)
qz 32.5 psf = 0.00256"Kz*Kzt*Kd=V* (Eq. 29.3-1 ASCE 7-10)
Fiasntans = 976 lbs =0.6"qz*GCr*Lunit*(Hunit¢eHcurbl (Eq. 29.5-2)
Fhas iong = 681 lbs =0.6=qz"GCr Wunit*[Hunit+Hcurb)
Evsincn = 372 lbs =0.6%qz*GCr*Lunit*Wunit (Eq. 29.5-3)
Curb Loading
Iransverse:
Compressionggspe = 987 lbs =[FpmaxASD*Hem+2#{1+0.14S,.)*Wimax*wcurbl/weurb
Tensionegeme = 865 lbs = Compsgspc-10.6-0.1455 ) *WGTunit
Compressionyyg = 641 lbs =[F transasp*Hem+ 27 0.6 *Wimax™weurb-F, qaep *weurb/2Yweurb
Tensionyup = 793 lbs = Compyaup+Fvert-0.6*WGTunit
---> Negative values indicate Compression load rather than Tension.
Longitudinal:
Compressionggsuc = 777 lbs =[FpmaxASD*Hcm+22(1+0.14%S,¢)*Wtmax*Lcurb)/Leurh
TensioNegeme = 455 lbs = Compsaeme-(0.6-0.145,*"WGTunit
Compressionyyg = 288 lbs =[F trensn *Hem+2*0.6*Wimax*Leurb-F . qaso*Leurb/2/Leurb
Tensionynp = 440 lbs = Compynp+Fvert-0.6*WGTunit

---> Negative values indicate Compression load rather than Tension.
Governing Reactions:

Transverse: Compuax = 987 lbs ---> Along long edge of curb.
{on long edge) Tensya = 8465 lbs ---> Along long edge of curb.
Longitudinal: | Compuax= 777 Ibs > Along short edge of curb.
(onshortedge) | Tensyax= 655  lbs -—> Along short edge of curb,

---> Negative values indicate Compression load rather than Tension.



6593 Riverdale St.

M 0 U R G R 0 U P San Diego, CA 92120

(6191727-4800

ENGINEERING + DESIGN Page __ of ___
Curb Design
Fy= 50 ksi Fu= 65 ksi t= 0.071314 Gauge |
E= 29500 ksi BI
Calculate Section Properties of Curb T
A=[__ 25.000}in a= 2664k in =A-[2r4) feett :
B'= 1.750}in a= 24929 in =A'-t ' u ﬂ
¢'=[___0.000]in (0 f no Lips) b= 1.572in =B-Irst/2+alr+1/2)] =8 /
a= 0.000{(0 - no Lip: 1 w/ lip) b= 1714 in =8B'-lt/2+al/2) /
R= 0.1069 (Inside bend radius] c= 0.000 in =olC-[r+/2]] R /
t= 0.0713 in o= 0.000 in =alC'-t/2) e \
r's 0.143 in =R+t/2 u= 0.224 in =nr/2 A
x= 0.104 in (Distance between centroid and web centerling)
Ix = 128.737 in {Moment of Inertia about X-Axis) ¢
ly = 0.218 in {Moment of Inertia about Y-Axis) \\
A= 2.01 in? ————
rx= 8.00 in
ry= 0329 in =
rmin = 0.329 in
Axial Compression
Pu= 0.488 k {Max Axial Compl Q.= 1.80
Pn/tic = 8.960 k z
=i CEPE p, g4 FAs1S F, = (0.658*") 5, B, =
Ac = 2.34 .ﬁ:=ﬂ ! =M o E 2= Kkl 2
ze- i ¢ U185 R=—3TF Ve (k4y)
Ly = 73.38 in Lateral unbraced length
kylyfry = 179 (assume k=0.8)
Compression Check = 0.K,
Check Web Criopki
h= 25 in -- Check limits: C =400
t= 00713 in hft=  350.63 €200 C = 0.14 [i‘e‘:‘abf’:&“"f‘én“““z::d
N = 7.00 Nft= 98.18 5210 Cy = 0.35 o supp w:gi ; L
1
0, = 175 N/h = 028520 C, = 0.02 9
Pi= 2.105k Rit= 1.50 £9.0
, R N h
P/0.= 1203k P, =Ct2Fsin(90) (1 -Gy = |l 1+ey [= )| 1—c |-
Long side: Pupmns = 0.987 k 0K #clips=1 t E :
Short side: Puggng = 0.777 k 0K #clips=1
*¢2h/t > 200; use web stiffeners
Check Web Stiffenar 16Ga x 1.5in x 7in [C-channel)
width of stiffener = 7.000 in ts= 0.0713
web of stiff. w= 6.64L in Rs = 0.1049 in
***Check w/ts < 1.28VE/Fys 0= 1.70
w/ts = 23.178
1.28V(E/Fys] = 310917 —>w/ts over limit Use C3.7.2
= 0.7(}",: + A,F;,) 3 .
Pwe = 2.105 k Ae= 0.474 in*
Pn= 18.052 k
Pn/fn, = 10.619 k 0.K.
Corner Connections 1/4" @ SAE Grade 8 bolts w/ 1/4-20-UNC Threaded inserts
Ternmax = 244 |bs Max(F,msn/b ~OR- Fhaspyend/b corner connections)
Vernmax = 432 bs [Max Ten/2 corner connections per side)
Bolt: Tall = 2480)lbs Vall = 1094])lbs
Threaded Insert: Tall = 2860|lbs Vall= 1714}lbs
# of Bolts required for Tension = 0.1
# of Bolts required for Shear = 0.4 ***If combined fails:

# of Bolts Used -= USE --> 4.0

Check Combined Stress in Bolts & Inserts: 0.493 QK. StressComb = 0.123 0Q.K.



6593 Riverdale St.

MOUR GROUP San Diego, CA 92120

[6191727-4800
ENGINEERING + DESIGN Page __ of _
e <--« USEWELD Q= 2.35
Assume L/t > 25: 25%t = 1.783 in R, _1 _ Vet
Lregd= 0292 /n=qOTSth2Vey  lreg'a = Greee
opi al Loads at each Isolstor  Type:  iQA
Transverse: Compuax= 1075 lbs Transverse loading: |Compuax= 10754 lbs
(on long edge) Tensyax = 953 lbs (on long edge) Tensuax= 9528 |bs
Shearysx= 488  lbs # isolators: 1 Shearpsy = 4881 lbs
Longitudinal: Compuax= 818  Ibs Longitudinal loading: |Compuax= 818.2 lbs
{on shortedge) | Tensyux= 696 lbs (on short edge) Tensyax= 6956 lbs
Shearpax= 488  lbs # isolators: 1 Shearyax= 488.1 lbs
Max compression force onisolater: 1.075k s 1.660k 0O.K
Max uplift on isolator: 0.953k <1460k QK x 60in ¥
Max shear onisolator: 0.488k <0800k 0.K.
Fgrggs an bg!t_gm hgug: 20 n O O
d;= 0.5 in
base curb,t= 0.0713 in 7.01n T

Tension= 0476  k/bolt to-

Shear= 0.244 k/bolt —_—
Shear on base curb: By = tef, a= 200 [Appendix A, Section E3.1 AIS) 1t
Pn/h= 4.635k e= 1.0 in
Shear 0.K. 4
Net section rupture: P, = AnF; 0= 222 (Appendix A, Section E3.2 AISI) 4
Pn/= 5.909k An= 0107 in
N.S.R.0.K. Fo=(01+3d/s)F, <F,= 55250 Kksi
Bolt Bearing Strength: £, = CmydtF, 0= 250 (Section E3.3.1 AlSI)
Pn/= 2781k dit= 7.0
Bearing 0.K. €= 3.00 mf=  1.00
Shear and tensicn in bolt: {Appendix A, Section E3.4 AlSI)
. Pﬂg :AbF)tt Fnt= 45.0 ksi Ac = 01963 inz = o =
Tension 2 - H e
Pnt/0= 3.927k Bolt tension 0.K o= 225 2o Tt ; »& e o L
Shear Py = ApFe Frv= 27.0ksi Q= 240 ELEN e Ay
Pnv/Q= 2209k Bolt shear 0.K. ***(Table E3.4-1, AIS[)*== - 1 v
DF,, i i
Fne = 13Fe = =5 < fe= 124 ksi oK
Combined Not Applicable Fnt= 45.0ksi Fov/Q= 1125  ksi
Connection of Curh to Supporting Structure
Roof Loading SEISMIC: (0.6-0.145DSID + 0.7E WIND: 0.6D + W
Transverse:| Upliftysy = 2343 lbs | Shearyy = 767 lbs |
Compressionsasme = 2536 lbs =[FprmaxASD*[Hem+Heurb)+{140. 145, IWET 1y .o /2] *weurb]/weurb
Tensionsmsme = 2343 lbs =Compeesuic-(0.6-0.14Sp)* (WG Tunit+curb)

Compressiongyg = 1368 lbs =[F transasp “(Hem+Heu ro)+0.6*(WGBT .oy /2)*Weurb-F qusp "weurb/2)/weurb
Tensionyug = 1394 lbs =[Fy tanessn *(HemeHeurb)-0.6* IWEBT ..o/ 2) *Weurb+F o eso "weurb/2weurb
Longitudinal:] Upliftyay = 1677 Lbs | Sheary = 767 tos |

Compressionggsue = 1870 lbs =IFpmaxASD*{Hcm+Hcurbl+[1+0. 145561 WG Ty, cue/2) *Leurbl/Leurh
Tensionsgeme = 1477 lbs =Compsgmpc-10.6-0.1455)* (WG Tunit+curb)
Compressionyy = £54 lbs =[Fs tereaso*[HemeHeurb}+0.6* WGT  y. /21 *Leurb-F oy assp *Leurb/2)/Leurb
Tensionymp = 681 ths =[F tencaso  (Hem#Heurb)-0.6* (WG T nip.cor/ 21* Leurt+ Fraso " Leurd/21/Lecurb
Wood Attachment: 1/4" @ wood lag screws w/ 3,5 Min. Embed [SGmin = 0.43)
Tallpew =] 946.67)Ibs Vall =] 1043.33)ibs
Transverse: Tallos=|  671.25ibs Vall, o= 224|Ibs
# of Screws Req'd for Uplift = 3.49 COMBINED LOADING: 0.865 0.K.
# of Screws Req'd for Shear = 3.43 Req'd Min Spacing =|n o.c.

Total # of screws required =

u -1/4" & wood lag screws @ 6.1 in o.c. along long side of curb w/ 3.5" Min. Embed



6593 Riverdale St.
MOUR GROUP San Dieg, CA 52120
[6191727-4800

ENGINEERING + DESIGN Page ___of ___

Longitudinal:
# of Screws Req'd for Uplift = 2.50 COMBINED LOADING: 0.846 O.K.

# of Screws Req'd for Shear = Screw Spacing =in 0.c.
Total # of screws requ:red

Use 7-1/4" & wood lag scr 45i | ort side of curb w/ 32.5" Min. Embed
Steel Deck Attachment: !ﬂ'emmmaeelanglebelowdeck
Tallyr = 6903}ths Vallyo, = 3682]lbs
Transverse: 4903|lbs 3682|lbs
# of Bolts Req'd for Uplift = 0.34 COMBINED LOADING: 0.274 O K.

# of Bolts Req'd for Shear = 0.21 Bolt Spacing = in c.c.
Total # of bolts required =

Use 2 - 1/2" & A307 Bolts to steel angle below deck @ 38.5 in 0.c. along long side of curh

# of Bolts Req'd for Uplift = 0.24 COMBINED LOADING: 0.226 O.K.
# of Bolts Req'd for Shear = 0.21 Bolt Spacing =in o.c
Total # of bolts required =
-1/2" 307 Bolts to steel angle below deck @ 23 in o.c. along shortsi fcurb

For Concrete anchorage:  SEISMIC (0.6-0.14SDS)D + 0.70,E (Q, =2.5)
Concrete Attachment: 3/4” @ thrd'd rods in Hilti Hit-HY 200 epoxy w/ 4" embed

Tallypep = 1919 ibs Vall gep = 3188 lbs = (1+0.25D5)D + 2.5F =1.87
Tallasy = Tallygra/a = 1026.2 los Vallasp = Valligrp/a = 17048 lbs (D = 0.485,E = 0.535)
Transverse:| Uplifiyay = 5599 lbs | Shearyy = 1919 lbs
Compressionggewe = 5792 lbs =[2.5*FpmaxASD*[Hcm+Hcurb)+[ 140,145 )* IWGT 4, -/ 2] *weurh]/weurh
Tensiens g = 5599 lbs =ComMpepsue-10.6-0.14S 1 (WGTunitscurh)
Shearsgemic = 1919 lbs =2.5*FpmaxASD/2
Min Bolts Reg'd Uplift = 5.46 spacing = 530 no.c. Tapplied = 799.9 lbs
Min Bolts Req'd Shear = 1.13 spacing = 265 inc.c. Vapplied = 274.1 lbs
Tryusing 7 - bolts oD LoaDING = —ceptied , Vapiied 0o o,
spaced at b6.42 ina.c T,,,,W_,m, Vettow.aso

‘19!9lb5

Upliftyay = Shearyy =
Compressiensgemic = 4124 lbs =[2.5*FpmaxzASD*{Hem+Hcurbl+ (140,145, X IWG T, o e e/ 21*Leurbl/Leurt
Tensionggewe = 3934 lbs =Compspomn-10.6-0.145,5)* (WG Tunit+curb)
Shearsgsue = 1919 lbs =2.5*FpmaxASD/2
Min Bolts Req'd Uplift = 3.83 spacing = 3.666667 ino.c. Tapplied = 786.7 lbs
Min Bolts Reg'd Shear = 1.13 spacing = M ino.c. Vapplied = 383.7 lbs
Tryusing 5 Dolts COMBINED LOADING =  —zmiied | Vapuued 45 o9
spaced at 5.75 ino.c. altow,asp  Vallow,asp

Use 5 - 3/4" & thrd'd rods in Hilti Hit-HY 200 epo; 5.B in 0.c. max along short side of curb w/ 4" embed

m (CBISCLXS™ {CBISCLXS** Unit: ALL YORK P***A CABINETS
UPPER CURB RAIL THICKNESS: 0.0713in 14 Gauge

UNIT CLIP THICKNESS: 0.0713in 14 Gauge
# OF CLIPS (LONG SIDE} - 1 clips with 4 - #10 SMS screws each clip
WEB STIFFENER: NOT REQUIRED
# OF CLIPS (SHORT SIDE) - 1 clips with 4 - #10 SMS screws each clip
WEB STIFFENER: NOT REQUIRED
VIBRATION ISOLATOR TYPE: JQA Top stud diameter: 3/8
Anchor bolt diameter: 1/2 Anchor hole diamter: 9/16
BASE CURB THICKNESS: 0.0713in 14 Gauge
WEB STIFFENER: 16Ga x 1.5in x 7in (Cchannel) stiffener at each clip on base eurb
CORNER CONNECTION: Use minimum 4 - 1/4" ¢ SAE Grade 8 bolts w/ 1/4-20-UNC Threaded inserts

cURE WOaD STEEL CONCRETE
ANCHORAGE 1/4" ¢ wood lag screws w/ 3.5" Min.| 1/2" & A307 Boltsto | 3/4" ¢ thrd'd rods in Hilti Hit-HY
Embed (SGmin = 0.43) steel angle below deck 200 epoxy w/ 4" embed
LONG DIRECTION 8 @ 6.07 in o.c. 2@ 385ino.c. 7@642ino.c.
SHORT DIRECTION 7@4.5ino.c. 2@23ino.c. S5@575ino.c.






